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(iv)

(v)
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(vii)
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3.

TG YT 5 g1 @ 8 —F IR & | G J97 HfAard & |

o7 G&IT 1 @ 10 37K 18 @ 27 377 TY-I709 YHR & F97 &, F9% o7 1 3%
F1 8 | 571 I U Vo5 I U AT 7 17T |

o7 G&IT 11 IR 12 3K 28 37K 29 TY-ITHIT JHR & o7 &, IIF o7
3 37 HT & | FTHT I YT 60 & 80 ¥isg] § 5w /

o7 &7 13 & 15 37K 30 @ 32 4 TY-ITHIT FHR & Jo7 &, I4H oA
4 37 BT & | 37T I TTHT 80 & 100 5] § 5w |

97 &I 16 3K 17 3K 83 3K 34 FH-FtRIT YR & 97 8, yd& Fo7
6 37H] HT & | 37T ITR TTHT 100 & 150 55! § e |

IR EIered a9 I§5aR &4 FeY 3K 19 & I7gFd Jeg HIHT H JArGqe qIc7
HIorg |

J97-97 7 HI5 GHY fdheq 781 8 | a9fd, Th-Th 3% qicd @ o1 7, d7-di7
3% FIc? S Iv §, TR-°IR bl it g I 7 3N T:-T: bl Gt §F I
7 37TaRe faseq 130 70 & | 08 Y91 § dact T &7 fdeq &7 It 1T |
5G% JfARFT, FEVTHAFIR, J9% GUS 3K Jo7 & T J9Ea 4337 170 17
g1/

Eusg &h
(Tmfz arefvmer)
T8 U W B Tl TN o9, IR S o ST 1 Teh Joh
7 | (Tt I g T o 61 gfd hifste)

Ioorg hifvre fop Feafalaa e w2 a1 swa -
“Herehifa 1 HH B o TOIU, Hg dh I T AR I (CRR) i HH
T =gy |7

THY AT | SR 1 aTcad § 2
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises two sections — A and B. All questions are
compulsory.

(it)  Question numbers 1 — 10 and 18 — 27 are very short-answer questions
carrying 1 mark each. They are required to be answered in one word or
one sentence each.

(iti)) Question numbers 11 — 12 and 28 - 29 are short-answer questions
carrying 3 marks each. Answers to them should not normally exceed
60 — 80 words each.

(iv)  Question numbers 13 — 15 and 30 — 32 are also short-answer questions

carrying 4 marks each. Answers to them should not normally exceed
80 - 100 words each.

(v) Question numbers 16 — 17 and 33 — 34 are long answer questions carrying

6 marks each. Answers to them should not normally exceed
100 - 150 words each.

(vi) Answers should be brief and to the point. Also the above word limit be
adhered to as far as possible.

(vii) There is no overall choice. However, an internal choice has been provided
in 2 questions of one mark, 2 questions of three marks, 2 questions of four
marks and 2 questions of six marks. Only one of the choices in such
questions have to be attempted.

(viit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Macro Economics)

1. Government expenditure incurred on defence items is a type of
expenditure in the Government Budget.
(Fill in the blank with correct answer) 1

2. State whether the following statement is true or false : 1

“To reduce inflation, the Central Bank should reduce Cash Reserve Ratio
(CRR).”

3. What do you mean by Aggregate Supply ? 1
581213, 3 P.T.0.




4. AR TR T Toie (Sfafifer) qen aomgshr gar @ |
(v I g fea T i gfd hifs)

5. e AT (TSTEE) TRl & whis @ 3l g |

6. Ifc TtwR Tl TIM W TH T IFHATA TG Rt 7, A 39 W fhAT 9

qlcdl o H‘\°h|‘:\| SN P | WEF[QEFW% |
(T8 I g e T ki gfd i)
7. T TEEH gRI T hl TS FN Th g |
(Tgt forepeu o1 ==A hifoe)

(A) Tehd TN YSima a5
(B) Uehdl IYANT IUHH a%g
(C) Teopre IuwRT a5

(D) AU IuwH a&qg

Jroqa

frafafea # @ SH-81 97 9ohd TSR 371G (GNP) 3Taehifae i g g ?
(Tt Tashed &1 == hifoTe)

A GNP 100

&) arf® GNP

B AL 100

®) g GNP *

C GNP 100

e —

HeTehifd 1 g o aiEcH
(D) e GND x 100
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4, is the agent and adviser to the Government of India. 1
(Fill in the blank with correct answer)
5. Give any two examples of non-tax revenue receipts. 1
6. If the Government establishes a new hospital, this expenditure incurred
in the Government Budget will be a type of expenditure.
(Fill in the blank with correct answer) 1
7. A car purchased by a household is a . 1

(Choose the correct alternative)
(A)  single use capital good
(B)  single use consumer good
(C)  durable consumer good

(D) semi-durable consumer good

OR
GNP deflator is represented by which of the following formulae ? 1
(Choose the correct alternative)
(A) Nominal GNP <100
Real GNP
(B) Re.al GNP <100
Nominal GNP
©) Real GNP <100

Change in Rate of Inflation

Change in Rate of Inflation y

(D)
Real GNP

100

581213 5 PT.0.




8. WM ofifSiu fr e whicufdes stefegaeen O, 3 i TR T 500 ™S & 9¢ R
T 600 HUS B A 7 | GNUMHEA:, IYUN I T 400 HAS W 9§ W
T 500 S B 91 7 | 39 gRfeafa # €A 39N ygia s 6
B | (Tt faehed w1 === hifs)
(A) 08
(B) 04
) 10
(D) 06

9. ‘focui @ U@ g YW dqed @d % (SHIA™) 97 | gt feRa
Sl (&t 3T g foh T bt qfd <hIfSw)

10. 3Ifg forell srefeaeen o |vqul sifdfed o o1 Iuvm fobam SiTam B, a1 e
TUTh T Hed B | (Tl forepeq 1 ==A FifS)
(A =0
(B)  STINWING (w)
(C) Tk (1)
(D) <™ (10)

11. “O%hd =T 3G (GDP) foret o1 it srefeuasen & ffdfeh e o1 Hamy
e &l & |7 fSU 7T e 1 AT SR Afgd GHH AT e HIT |

12. 9fC U Irefeaen | ;
i 399 9l (MPC) = 0-8
YRS fFasr § ufEdd (AD) = T 4,000 S &l
frefefad o qea 91 I
(a) o= ok (K)
(b)  2Afqw 3T H ufEdq (AY)
AT

afe gmy mafd (AS) 1 qer § @Hm Wit (AD) 3tfues B, a1 S& uifeata |
RIS dF & SRy &t ==t hifsu |
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8. Suppose in a hypothetical economy, the income rises from ¥ 500 crores to
T 600 crores. As a result, the consumption expenditure rises from
T 400 crores to ¥ 500 crores. Marginal propensity to consume in such a
case would be . (Choose the correct alternative) 1
(A) 08
(B) 04
C© 10
(D) 06
9. ‘Charity from Abroad’ will be recorded on (credit/debit) side of

the Balance of Payment accounts.
(Fill in the blank with correct answer) 1

10. If the entire additional income of an economy is consumed, the value of
investment multiplier will be . (Choose the correct alternative) 1
(A)  zero (0)
(B) not defined ()
(C) one(1)
(D) ten (10)

11. “Gross Domestic Product (GDP) is not the best indicator of the economic
welfare of a country.” Defend or refute the given statement with valid

reasons. 3

12. Ifin an economy :
Marginal Propensity to Consume (MPC) = 0-8
Change in initial investment (AI) = ¥ 4,000 crores 3
Find the value of the following :

(a)  Investment multiplier (K)

(b) Change in final income (AY)

OR

Discuss the working of the adjustment mechanism if, Aggregate Demand
(AD) is greater than Aggregate Supply (AS). 3

581213 7 PT.0.




13. “U T & TIHR ool H ST 91 o 3ifEdcd o forT Uerepiia =mer 98 @
gehat |” Teu T oM w1 UL YT Wed HifT | 4

14. “fisd ws aE O iR Sk (US $) 3 0-75 98 9fd Sfer (p/$) St 38T ot
TS o; I8 IR STem-31elT R o =il (ffderl qen strmdent) o fog
TEHUES A1 IGEH &1 "ehelt 7 |7 Tqu T oM 1 Siifaed fag Hifw | 4

15. ¥ b Ty YohR T 12 <H Tgdl 9 9rg Il star g 2 samen Kifvu | 4
AYAT

T fod S grn, o e § W@ % fu svEm foer S et ol @
el bl foear @ foa=mn ShifST | 4

16. U hlcush rdeqaeen & ffcifigd 3tfeel & 39 &, fau 7w a9t & foig

qEdfaeh Gkl BT 391G (GDP) 3hl TUHT & T I : 6
Ty 2015 — 16 2016 — 17
Tifgsh GDP X 8% 9%
GDP 31awhifae 160 150
Jroran

(a) “TH q-qFh AT T I H Igd YA W WAEG (axiom) W
T 8 fop forell Th o1 oo ol <1 1 Bt @ |7 |1 el afed 1
I kT gHAT HIfST |

(b)  ‘ITUTE & oI qAT eI ghg H MR T HINT | 4+2
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13.

14.

15.

16.

“The Government Budget of a country cannot have fiscal deficit without

the existence of revenue deficit.” Defend or refute the given statement.

“US dollar has recorded a jump of 0-75 paise per dollar (p/$) in the last
one month; this situation might bring smiles and sorrows to different

types of traders (exporters and importers).” Justify the given statement.

How does the Central Bank control the credit with the help of Repo
Rate ?

OR

Elaborate any two instruments of credit control, exercised by the Reserve
Bank of India.

Using the following data of an imaginary economy, calculate and compare

the Real Gross Domestic Product (GDP) for the given years :

Year 2015 -16 2016 — 17
Nominal GDP Rate 8% 9%
GDP deflator 160 150
OR
(a)  “Circular flow of income in a two-sector economy is based on the

axiom that one’s expenditure is other’s income.” Support your

answer with valid reasons.

(b)  Distinguish between ‘value of output’ and ‘value added’.

442

581213 9 PT.0.
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17. feu U fuag 9, ‘KT 31aUe 1 YeiRid idl 3 2 39 INfEfd & auee & fe
forgl g1 TSTeRINIT 3T T 3g@ I = It | 6
y

- ADl(C+I+AI)

K_.--/ AD(C+T)

>

HHY HIT

45°
Yp

giceaTiaa oTa1 & fo70 ;
FATTHIfT AT hT FT AL B ? TaThifa Tque i uffeafa o gmum & o
forgl Q1 TTeRIST IUMT 1 Ig@ o == T | 6

QT E
(W stefeaTen 1 foew )

18. 1 o SATIHTII I 1 Teh I 2 | 1
(W@t forsheq =1 = Q)

(A) SIS Ahel
(B) I

(C) ¥ &1 HII-H=
(D) HEI MR & I9A

19. 9T I T G G=GH ASHTST | A w1 S T ITAAT h
ol o foru femam T e | (T8 I gRT e T i qfd Hifse) 1

580213 10
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17. In the given figure, what does the gap ‘KT’ represent ? State and discuss

any two fiscal measures to correct the situation. 6
y
. ADl(C + I+ AD
- -
g
£ K AD(C+1)
'_%) - _ - -
PR
&
3 T
)
a0
<
45°
¥ X
F Income

For Visually Impaired Candidates :

What is meant by deflationary gap ? State and discuss any two fiscal

measures to correct the situation of deflationary gap. 6

SECTION B

(Indian Economic Development)

18. is an example of a commercial source of energy. 1
(Choose the correct alternative)

(A)  Firewood

(B) Coal

(C)  Agricultural waste
(D)  Dried dung cakes

19. policy was implemented in the first seven five-year plans of
India, to protect domestic industries. 1

(Fill in the blank with the correct answer)

581213 1 PT.0.
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20. FHicrH [T & TS TEART & HE o 1Y ™ e Fiow 1146 fer v faeheat
% & AT I UgAH HINT

FHicaq I BHiaa I1

a. | Tova AR @764 (WTO) | (i) | JTaH Hqed ohl THET i §A B
& TIU 3TcUehIeie SRT YeH Hidl 3 |

b. | 9™ 5@ d% (RBI) (i) | U SgUefid SR i +h 2 |

c. | AU gl N (IMF) | (iii) | gAfmfor iR fospra & fore o <3 Y

gl YgH L 7 |
d. | TS gafmio 3 (iv) | I T g 1T Sh & |
foerra &% (IBRD)

fafafga 9 9 92t fosreq 1 =94 v .

(A) a-(i1), b-(1), c-(ii1), d-(iv)

(B) a-(id), b-(iv), c-(ii1), d-(1)

(C)  a-(ii), b-(iii), c-(iv), d-(1)

(D)  a-(id), b-(iv), c-(i), d-(iii)

21. WA 7 U< Y BiEe’ i eI I T &l oft |
(T fasped =1 == i)

(A) 1951

(B) 1955

() 1958

(D) 1962

22. G H Uiy foraaiyor o fow sis gwer w1 9 fafgu |

23. 3o hitay for AfeIRad sem 9 8 319eT 39

“qftr d Fafor w1 319 g foRell SR o fote fH-gmer i =@ €an fgifia
g 7

24, TorHl T HERA ST o1 9 fafgu |

580213 12
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20. Identify and match the correct sequence of alternatives of organisations

given in Column I with their respective functions in Column II : 1
Column I Column I1
a. | WTO (i) | provides short-term loans to solve

the Balance of Payments problem.

b. | RBI (i1) |is a multilateral trade negotiating
body.

c. | IMF (iii) | facilitates lending for reconstruction
and development.

d. | IBRD (iv) | is the Central Bank of India.

Choose the correct alternative from the following :

(A)  a-(ii), b-(1), c-(ii1), d-(iv)

(B) a-(ii), b-(iv), c-(iii), d-(i)

(C)  a-(ii), b-(iii), c-(iv), d-(1)

(D) a-(ii), b-(iv), ¢-(1), d-(iii)
21. Mao initiated the ‘Great Leap Forward’ in the year . 1

(Choose the correct alternative)

(A) 1951

(B) 1955

(C) 1958

(D) 1962
22, Name the apex institution for rural financing in India. 1
23. State whether the following statement is true or false : 1

“Land ceiling means fixing the minimum limit of land holding for an

individual.”

24, Name any one Maharatna company.

581213

13
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25.

26.

27.

28.

29.

EL] T YR THR A 6 ° 14 99 & o9 @t st & fore e fses
qem Aa L & oft | (T fasheq =1 ==F i)
(A) 2001

(B) 2009

(C) 2003

(D) 2007

AT

famfafiaa 4 @ 9-91 9eq YRd § ey 85 i i s g 2

(Tgt foepey &1 ==A i)
(A) ICMR
B) UGC
(C) AICTE
(D) RBI
Sifereh @t o fopelt Toh oY 1 Iooi@ I |

Iooig hifoe fop fafafaa oM oc 3 31eaEr 319y .
“qrferea™ I g H, WRA § T @1 ¥ A= @ 9 @l sl ITgdTd i
%l”

“URA FERR 7 B B H Fedl g3 g1l % ol MTNL de1 BSNL % oo™
) =9or <kl 2 |7 AR SRR g 33TT U shed] ol ey fag hifvg |

“arg o forelt (WIfh) & 1 *3 yg@ gHIfaE 1 AmEar S vsar 7 17 fon
T e T AT qeRl died == T |

AT

“1964 — 66 = e AT i FHEIRE H AT FE H IRA FARA @ 3 |7
feu U e & THYA | T ek TEA hITT |

580213 14




25.

26.

27.

28.

29.

581213 15 PT.0.

In the year _, the Indian Government made education free and
compulsory for all children between 6 — 14 years.
(Choose the correct alternative)

(A) 2001

(B) 2009

(C) 2003

(D) 2007

OR

Which one of the following organisations regulates the health sector in
India ? (Choose the correct alternative)
(A) ICMR

(B) UGC

(C) AICTE

(D) RBI

Mention any one advantage of Organic farming.

State whether the following statement is true or false :

“Proportion of people living below poverty line is more in India as

compared to Pakistan.”

“Recently the Government of India has decided to merge MTNL and
BSNL on account of rising losses.” Justify the steps taken by the

Government of India.

“Power sector in India has major challenges to face.” Discuss the given

statement with valid reasons.

OR

“India has failed to implement the recommendations of Education
Commission of 1964 — 66.” Give valid arguments in support of the given
statement.




30. H&Y H ==l T foh, fore TR TEATTd GURI (YfH GURT) 5 AR HY i
e § HEwaqUl et fuTE 7 |
3T
“facsht ggr wer it d=a@ 9 sren-fftar & Qe el % WY WRa H

A Sfdey @E U 9 |7 HI dehl 9fed feT U e w1 Iiifuca fug
I |

31. TIAAAT hl [E-GEAT W, YR < fogeh SR fifa <1 fhl 3 g fommwarsti ®
feoauft Hifo |

32. JY HWUN o Y, YRA IR = & U MU tihei 6 ot 9 faveryor Hifvw -

- ST 1 AT Jhg & ISRUGKIG
(2015) (wfd TR q&9)

qd 1-2% 929

== 0-5% 941

Hra : fova T gehdss, 2015

33. T=faRaad i affea HiNT

(a) T shifd

(b)  HfeReT S GRT &
() T W@

(d) S-S

580213 16
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30. Discuss briefly, how institutional reforms (land reforms) have played a

significant role in transforming Indian agriculture.

OR

“Import restrictions were imposed in India with the dual objective to save

foreign exchange reserves and to be self-sufficient.” Justify the given

statement with valid arguments.

31. Comment upon any two salient features of the foreign trade policy of

India, on the eve of Independence.

32. Compare and analyse the given data of India and China with valid

reasons :
Sex ratio
Countr Annual growth rate of (per
4 population (2015) thousand
males)
India 1-2% 929
China 0-5% 941

Source : World Development Indicators, 2015

33. Define the following :

(a) Golden Revolution

(b)  Carrying Capacity of Environment

(c) Poverty Line

(d)  Life Expectancy

581213
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34. (a) T H o ¥ SR o i |
(b)  STHeh-SHEEAT 3TUTd T gim forfau | 4+2
AAAT
A § TaAdl | 379 Toh - fhU 7T T I Hrishul o TROMHT
JTeATeHTcHS qaE HfT | 6

580213 18




34. (a) Comment upon the informalisation of labour force in India.
(b)  Define the worker-population ratio. 4+2

OR

Critically examine the results of Poverty Alleviation Programmes
implemented in India since independence. 6

581213 19




